e, TREEY < @ RE D | win | mams | ZEE
TR | g RS . #IE fi ot BB S
MBS wwm | mEw | gl || g | @B Awy | ) )

100 90.3 58.5 58.5 31.8 6.2 38.0 24.3

126 92.9 58.3 58.3 34.6 6.4 41.0 125 39.9 21.5

160 94.7 58.9 58.9 35.8 5.6 41.4 22.3

200 95.5 55.6 55.6 39.9 5.0 44.9 18.3

250 98.0 57.7 57,7 . 40.3 4.4 44.7 250 454 19.0

315 98.1 55.5 55.5 42.6 44 1 470 20.2

400 100.1 53.8 53.8 46.3 4.3 50.6 20.4

500 99.5 51.7 51.7 47.8 4.1 51.9 500 52.2 20.5

630 98.5 46.7 46.7 51.8 3.4 5b.2 19.6
800 98.3 44,0 44,0 54.3 3.2 57.5 17.5

1000 99.9 41.6 41.6 58.3 2.8 61.1 1000 59.8 16.7

1250 100.5 40.9 40.9 59.6 2.5 62.1 16.0
1600 101.9 39.8 39.8 62.1 2.3 64.4 11.4

2000 103.3 39.6 39.6 63.7 1.7 65.4 2000 65.4 9.3

2500 102.2 36.7 36.7 65.5 i.1 66.6 11.5

3150 101.8 35.8 35.8 66.0 0.4 66.4 9.8

4000 103.0 | 35.9 35.9 67.1 -0.4 66.7 4000 66.7 9.0

5000 103.0 34.8 34.8 68.2 -1.2 67.0 11.0
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